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No. o= A (Specifications)
Azimuth (=4 3 +360°
75 9 . —
Elevation (==& &2k +145°
Azimuth 53 Torque Motor
T& ZH
Elevation Direct Drive Motor
L Azimuth
dIAE Hills < 0.003 arcsec
Elevation
Azimuth
A HEE < 2 arcsec
Elevation
N Azimuth
o™ K& , < 7&/rev
Elevation
Azimuth
M=z HOIZ <1 um
Elevation
Pz SA/AZ < 2 um/ 5 arcsec
Servo Update Rate Max 5kHz
) Incremental
Encoder interface )
BiSS-C for Absolute Encoder
Position Update Rate 32kHz
Xof7| Servo Axes 8

Position control

Individual axis servo control
PSD signal tracking control

Analog Input

Over 8 Channel

Communication

TCP/IP
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Elevation Angle
Measured
Measured by encoder
n( ¥ ) Point

Distance (Measured by
laser interferometer)
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Azimuth Angle
(Measured by encoder)
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